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There is infinite aggregate of polynomials progressions, in which so-called arithmetic progression is a special case. 
We’ll take the formula of homogeneous equation of any degree and we’ll set the numeric values to unknowns in any range of number axis. We’ll identify the obtained sequence of numbers as a progression of polynomial in n-degree according to the type of the used formula. 

We’ll be interested in the reverse task, using the sequence of numbers to define the regularity of their distribution.
Let’s take the concrete sequence of numbers:
21, 88, 225, 480, 925, 1656, 2793…….

Now let’s write and describe the algebraic trapezium of the presented sequence of numbers in detail. 

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	24
	
	24
	
	24
	
	
	
	

	
	
	
	48
	
	72
	
	96
	
	120
	
	
	

	
	
	70
	
	118
	
	190
	
	286
	
	406
	
	

	
	67
	
	137
	
	255
	
	445
	
	731
	
	1137
	

	21
	
	88
	
	225
	
	480
	
	925
	
	1656
	
	2793


Table 1.

This trapezium consists of numbers that represent differences of the neighbor numbers. 5 is a number of levels for the given trapezium. I appeal to my own experience - it means that this sequence of numbers belongs to the progression of polynomial in the fourth degree. 
Now let’s make a formula of the presented sequence of numbers. We are interested in numbers that are underlined. 
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Now we derive a formula for sum of sequence members, for this purpose we make the following blank:
S1 = 21

S2 = 21+88 = 109

S3 = 109+225 = 334

S4 = 334+480 = 814

S5 = 814+925 = 1739

S6 = 1739+1656 = 3395

S7 = 3395+2793 = 6188
Now we write and describe the trapezium in detail:
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Table 2.
And we write a formula at once:
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